
History: Preliminary 041208

Original Design: Mike Taylor

Checked: D. Taylor

Sheet 1 of 1

Scale: NTS

Drawing#: 10001A.SplivelD

ENG/Drawn: M. Taylor

Splatter F/X, Inc.
Houston, TX

SFXHouston@gmail.com

Splivel
Detail

REV:A

3/4" PVC End Cap

1/4-20 3/4" Carriage Bolt

1/4-20 Hex Nut

1/4-20 Hex Nut

1/4-20 Star Washer

1/4-20 1" Hex Bolt

1/4-20 Star Washer

1/4-20 Star Washer

1/4-20 Hex Nut
Splivel Plate

(Splatter FX Swivel)


